THE METRIC SYSTEM

The metric system was devised during the French Revolution (1789-1799) in order to standardize the different systems of measurement which were then being used.  The metric system has standard units of measurement for problems involving length, area, volume, mass, temperature, electricity and time.  Other units of measurement in the metric system are obtained by multiplying and dividing by powers of 10.
Measurement of Length

The most common metric units of length used are the kilometer (km), the meter (m), the centimeter (cm) and the millimeter (mm).  These units of length are related as follows: 
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Converting Metric Units

Consider the lengths of the following lines:
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It is clear from the visual comparison of the lengths that a centimeter is a larger unit than a millimeter or conversely that a millimeter is a smaller unit than a centimeter.

Likewise, we can say that:

· a meter is a larger unit than a centimeter or conversely that a centimeter is a smaller unit than a meter. 

· a kilometer is a larger unit than a meter or conversely that a meter is a smaller unit than a kilometer. 
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  This suggests that:

To convert length from a large unit into a small unit, multiply by the relevant power of 10.
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To convert length from a small unit into a large unit, divide by the relevant power of 10.
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Example 1

Convert the following measurements.    a. 8 cm to mm      
b.  6 m to cm

c.  7 km to m

Solution:
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Example 2

Convert the following measurements.

a. 7 m to mm



b.  5 km to cm



c.  4 km to mm
Solution:
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Example 4

Convert the following measurements.

a.  836 m to km

b.  475 cm to m
c.  4000 mm to m
d.  730 000 cm to km

Solution:

[image: image10.png]1000 m = 1 kem)




                 

 [image: image11.png]b 475em =155 m 100 em=11m)

=475m




[image: image12.png]4000
2

e 4000 mm = 2 om 10 mm =1 cm)
—400cm
0o 100 cm = 1m)
100

—4m




[image: image13.png]d. 730000 cm =

100
=7300m
_ 7300
=000 *
=73%km

730000
m

2100 cm =1m)

(21000 m =1km)




Practice questions (Show working)

1. Convert each measure to mm

a. 16 cm

b. 829 m
c. 1 km

d. 34cm 6 mm

e. 740 m 83 cm

2. Convert each measure to cm
a. 117 m

b. 20 mm
c. 1 km

d. 72km 60 cm

e. 132 m 80 mm

3. Convert each measure to m

a. 8 km

b. 9,300 cm
c. 2 mm
d. 424 m 5,000 mm
e. 9 km 8,000m

4. Convert each measure to km
a. 1,000 m
b. 9,000 m
c. 2mm

d. 398 km 10,000 m
e. 51 km 8,000 mm

5. Convert each measure to m first and then cm or km
a. 601 m 4,658 cm = __________ m = _______ cm   
b.  b. 929 m 2,250 cm = ___________ m = _______ cm

c.    9,608 cm = ___________ m
 = ________ km
d.   4,047 cm = ___________ m = ______ km
6. Solve the following problems:

a. Ethan lives at one end of Park Avenue. Brian lives at the other end of the avenue. It is 5.8 kilometers from one end of Park Avenue to the other. If Ethan walks 2.79 kilometers toward Brian's house, how many meters does he have to walk to get there?

b. Devin had the measles and had to stay inside even though he didn't feel very bad at all. He decided to make a cake to surprise his mother. The recipe said he needed four deciliters of milk. How many liters of milk did he need?

c. Aaron and Noah wanted to have a contest to see which of their paper airplanes could fly the longest distance. Aaron's plane flew four meters. Noah's plane only flew seventy-nine centimeters. How much further did Aaron's plane fly?

d. We are driving to Las Vegas. The sign says that it is one hundred forty-five kilometers to Las Vegas. How many meters is it to Las Vegas?
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